Question Paper Title : TI_09

Date of Exam : 07-07-2019 10:00 AM
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Choose the option that best punctuates the given sentence:

The little girl asked her mother are we going home now.

A.The little girl asked her mother, “Are we going home now?”
B.The little girl asked her mother, “are we going home now”.
C.The little girl asked her mother “Are we going home now.”

D.The little girl asked her mother. “Are we going home now.?”

A.The little girl asked her mother, “Are we going home now?”
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Choose the correct form of verb for the given sentence:

We in this house for the past 15 years.

A.has living
B.have been living
C.has lived

D.has been living

B.have been living
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Reference 1D:(4440) Choose the option that correctly spells the words to be filled in the given
sentence:

The prepared a special

A.bakerry , confictionery
B.bakery , confectioner
C.bakeery , confectionaey

D.bakeary , confectionery

Answer: B.bakery , confectioner
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Answer:
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Answer:
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Combine both the sentences below with a relative pronoun.

That is my friend Gautam. Gautam has opened a new showroom.

A.That is my friend Gautam who has opened a new showroom.
B.My friend Gautam has opened a new showroom.
C.Itis my friend Gautam that has opened a new showroom.

D.A new showroom has been opened by Gautam that is my friend.

A.That is my friend Gautam who has opened a new showroom.

Choose the appropriate prepositional phrase for the given sentence:

reach early, | took the shorter route.

A.In order for
B.In order with
C.In order in

D.In order to

D.In order to
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Out of the following options, choose the sentence that is punctuated
correctly.

A.What's happening? he shouted.
B.‘What’s happening?’ he shouted.
C.‘Whats’ happening?’ he shouted.

D.‘What’s happening! He shouted.’



Answer: B.‘What’s happening?’ he shouted.
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Answer: B.3

Reference 1D:(4448) Choose the option with the appropriate suffix to complete the given
sentence:

Today’s edit in the Times of India is thought provoking and has been
written in a profess way.

A.-ings, -ing
B.-ing, -orial
C.-or, -ion

D.-orial, -ional

Answer: D.-orial, -ional
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Choose the option that best transforms the given sentence as directed:

He is very old. He cannot walk.
(Combine the two sentences into one sentence)

A.He is so old but cannot walk.
B.He is very old and cannot walk.
C.He is very old enough not to walk.

D.He is too old to walk.

D.He is too old to walk.
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Answer:
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Choose the option that has all words spelt correctly:

A.servant , guidance , assistant
B.servent , guidance , asistant
C.servent, guidence , assistant

D.servant , guidance , assistent

A.servant , guidance , assistant
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Select the suitable determiner from the given options to complete the given
sentence:

Have you watched of the James Bond movies?

A.few
B.any

C.little



D.a few

Answer: B.any

Reference 1D:(4740) DIUTdT GREY U1 gord Ufad Sraadi= Gardidn fagifed sar?

A 3G-30-9gT
B.3G-3a-th7

C frare-3a-sit
D.qe3H

Answer: A.g?{-BFT-\_{J,ET
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Answer: AT

Reference 1D:(4705) Choose the appropriate preposition to complete the given sentence.

Gemmais bad ___ tennis.

A.in

B.at



C.over

D.about

Answer: B.at

Reference ID:(4729)  RIeqidl AT 31ig facieh gabrd! il i,
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Answer: C. AUl Rrareh

Reference 1D:(4708) Choose appropriate conjunctions for the given sentence:

| like you alot ___ you are kind smart.

A.but , and
B.if, and
C.because, and

D.although, while

Answer: C.because, and



Reference 1D:(4704) Choose the correct form of modal auxiliary verb for the given sentence:

If | were you, | consider the job offer seriously.

A.ought
B.can
C.would

D.must

Answer: C.would
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Reference 1D:(4444) Choose the correct form of adjective for the given sentence:

Don’t overtake on a corner!

A.blind
B.blunt
C.sharp

D.steep

Answer: A.blind
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Choose the correct form of expression to complete the given sentence:

NASA reported a hyper sonic aircraft is being designed for military
missions and as a space launch vehicle to carry supplies

A.there is
B.both
C.not only

D.that

D.that
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Choose the correct form of verb that is in agreement with the subject:

If | you, | would have agreed to the solution.

A.was
B.am
C.are

D.were

D.were

UeIfergaal ATaId: WU $icsdd Sild.
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C.Uiey 9
D.fgxa 9

Answer: ABTS I
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A.66%
B.67%
C.68%
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B.3H
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Reference ID:(4969) qI e ST fag ATt ol axT:
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A.212
B.221
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D.242

Answer: A.212

Reference ID:(4741) fRrarsii-il i faRieed Sheied WM IiHT 3R AR dTaR Riarsiil dikdd
TUNTIOT HRUMR & AATed fafged Tid, e ok T S0Ted SiT3, T

A TGS
B.facq ug

C.HIg-T

D. &

Answer: A.thEIST

Reference 1D:(4713) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

I've been beating my brains out to find a way to get the money to her in
time.

A.eagerly waiting

B.think very hard



C.hitting my head hard

D.sweating out

Answer: B.think very hard

Reference ID:(4721) VDI S BRI TR T IgUi 34 -

Al U YU G T STUTe S A dlcd o Hul.
B.fd=IR 7 Rl Sicul.
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Answer: AT U U0 g T STUIT o I dlcd o Hu.

Reference ID:(4983) U Yed 20 Yhg A Teh WY HTMUT 100 Hiex WiehIH 30 JdhaiHe] UR Hd.
EEIICIEIE]

A.100 Hiex
B.200 TR
C.300 Hiex

D.400 HIc?

Answer: B.200 Hiex

Reference ID:(4962) UG fSddb &l 9] fapa 3aRT 3178,

AHET

C. g4

D. FAURER
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Reference 1D:(4739)
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Reference 1D:(4732)
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Reference 1D:(4968)
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B.fogctan

C.qam
D.goqHt

D.gH
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A.gJ TTE Ul
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D.46

Answer: C.32

Reference 1D:(4967) TohT [y SisHe, LUTE @ MUTE 31 faifgd ST 311foT FATE @ GATE 3/
fofed ST, aR o1 HlsHed BLUE &Y forfed Sea?

A.CLUE

B.FLUE

C.SLUE

D.GLUE

Answer: A.CLUE

Reference 1D:(4972) “FIGHT” XTsarA 31eRTd! fard! i TR Aigui dell Siiss Jdhd?

A.120

B.115

C.110

D.105

Answer: A.120
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AN
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Answer:

Reference 1D:(4963)

Answer:
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Answer:
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A.MTd

R YRER B HST 3R HRU] .

A TR} & B R SO Y BIOTRT &9 aTgad
B.d ¥Rl & dTedd 3101 Uged BIUIRT <l drgdd

C.d U=l &5 HH! B ST TRIed BIVIRT &6 HHT Bl
D.d W= & aTead STl Ugad BIUMRT &1 HH! Hd

AT TR &5 ST B SATIOT TR BIVIRT &9 dTedd
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BSESIE] Tadb U SR 3L 14,

A.10%
B.15%
C.16%

D.20%
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Choose the option with the appropriate suffix to complete the given
sentence:

| wonder what'’s in this myster package?

A.-y
B.-ious
C.-ical

D.-ify

B.-ious

TRIT T AsGRIT HIGAT Sl

A.3ngfesis
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Reference ID:(4717)

Answer:

Reference 1D:(4443)

Answer:
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C. UM%
D.T¥HfacRl®

D.gafdei®

B T3] HTYUr T dTrERE 37 -

AT ¢TI,
B.fasyraend o,
C. &Y B,
D. 5 &I,

B.fayrerera o,

Choose the correct form of adjective for the given sentence:

My father has patience than my mother who loses her temper for
trivial things.

A.most
B.more
C.much

D.the most

B.more

e esave  Id fver ordew i

Afbde
B.dRbedld

C.pedid
D.gId!

Afbde

QI 2-3ih! HBAET UIHR 2028 3HTg SO el T 13 3715, aR 1 AT
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A.26,78

B.39, 52
C.13, 156
D.36, 68
Answer: B.39, 52
Reference 1D:(4446) Choose the correct form of the noun for the given sentence:

is better than cure.

A.Preventable
B.Preventing
C.Prevent

D.Prevention

Answer: D.Prevention

Reference ID:(4719)  TadgA fdvar SIS UM Rsqid! abial olle! el
AHSl - TSt
B.ITST — el
C.T3 —drs

DX — AR

Answer: A.ao_so[ - TIEPI

Reference ID:(4734)  GaM 3{iaT @ieal.’ IT I HH NSGH forgl.

A.3{TdT

B.gdM
C.3{TqT Wl

D. el



Answer:

Reference 1D:(4449)

Answer:

Reference 1D:(4744)

Answer:

Reference 1D:(4450)

Answer:

Reference 1D:(4965)

A.3{TdT

Choose appropriate articles for the given sentence:

Those in ____ know are already excited about ____ innovation.

A.the, the
B.a, an
C.a a

D.an, an

A.the, the

3ifaIeR 2018 ol YaSAL TTYUHSAITHC STfes 31 fas SHior s
DI Sfqel STt St Aeft @i

A1 at
B.10 3
C.50 3

D.19 dt

D.19 dt

Choose appropriate articles for the given sentence:

Andaman and Nicobar Islands are ____group of islands at meeting
point of the Bay of Bengal and the Andaman Sea.

A.The, a, the
B.A, the, a
C.An, a, the

D.The, an, a

A.The, a, the

G o T IRIRT 32 T 3115, Th gu-=ATue 16 aui-i 13T 318, R
1 &H ol GeaTd a9 3R



Answer:

Reference 1D:(4707)

Answer:

Reference 1D:(4975)

Answer:

Reference ID:(4712)

A.34 aY 30T 50 9
B.20 Y f1f0r 36 Y
C.24 9§ 3107 40 Y
D.32 9y 3f1f0r 32 9

C.24 Iy 3for 40 I8

Choose the most suitable conjunction to complete the given sentence:

He found his wallet he had left it.

A.while
B.when
C.where

D.wither

C.where

A el A, B 3If0T C A Teh a9 Y& DHRUGMTA!, 3JshH 3000 ¥U, 5000
ST 30T 7000 FUTTH I dball. I RIGel 100000 FU Tael A1

s;g;mmsﬂazfs% o G ol SIld. B dT dTeT 81 A =T dlearue faedt oiRd
?

A.20000 3T
B.10000 3T
C.5000 3T

D afctes! HIurdg et

B.10000 3T

Choose the correct form of tense for the given sentence:

He his PAN card right inside the drawer, where he it.

A.will found, will keep
B.is finding, is kept
C.finding, keeping

D.found, had kept



Answer: D.found, had kept

Reference ID:(4727) Sl Xeg H HERIPIiTd IAgarai=a sicHTS e A ST, QT ---mmmemv e
BT,

A TR
B.d&H

C.dd
X:AGANI

Answer: A.a'-‘ZIGT

Reference 1D:(4445) Choose the correct form of the noun for the given sentence:

Many people face a lot of when they have to educate their children.

A.hardness
B.hardships
C.hardiness

D.hardly

Answer: B.hardships

Reference ID:(4973) SR 12 G fdvdl 18 Higell Th 1 14 fGadid ®rd SMdld, OR 8 T AT
16 AR o B Yol HRUFRITA! fobett fgad ANTTa?

A9 feaa

B.10 faa@
C.12 feaw
D.14 fead

Answer: A9 feayg

Reference 1D:(4977) 20% T ARNUTS e TR, TUIh! fhdd 20800 T 3Tg. Ges fhaa
P 3HTG?

A.32500 3T



B.30500 ST

C.31500 3T

D.33500 ST

Answer: A.32500 FEP?[

Reference ID:(4957)  SWMIETG AUTd TG fdhewardn gEUTT Jh Rl WS- uRaAfdd
31872

AJARC
B. AT G718
C.§9=

D .95 dl &S

Answer: C.ddleC

Reference ID:(4747) 2018 A HERIYHYT SIiaRUl UTHL Ul il REBR WIelciush! il
Sipa?

At Reldbid Uedhr
B.URITd HHIHR
C.aRYad @TS

D. gyl UDIR

Answer: A J;J,Qﬂ“l@bid U

Reference 1D:(4749) 26 S 2018 it YT HTd, I HERIFMHEI BATTH fag 30T FraTores
ARSI qRGd HRUGTd ST,

A IR 3fbTEH! REPR
B.HERIY IR} [RDHR
C I Mg TRHR
D.U<I 4t

Answer: C IO Mg REDHR



Reference 1D:(4958) ATp TRl Sl IACATHYT HERTY Ioara HiHd Plorr Jrelt et

A.1956
B.1960
C.1962

D.1964

Answer: B.1960



